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Physics ATAR - Year 12

Electricity and Magnetism
Unit Test
2017

Name: Mark: / 59

Time Allowed: 50 Minutes

Notes to Students:

1.

2.

You must include all working to be awarded full marks for a
question.

Marks will be deducted for incorrect or absent units and
answers stated to an incorrect number of significant figures.

No graphics calculators are permitted — scientific calculators
only.
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Question 1

The diagram to the right shows a ring of
wire of radius 2.00 cm, which is immersed
in a uniform magnetic field of intensity 50.0
mT. A student pulls the ring downwards at
a constant speed of 10.0 ms™.

(a) Indicate on the ring the direction of
any induced current as it leaves the
field.

(1 mark)

(12 marks)
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(b)  Calculate the time taken for the ring to cross the magnetic boundary.

(2 marks)

(c) If the ring has a resistance of 3.00 mQ, calculate the average current induced.

(4 marks)
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(d) State what effect the student would feel as he pulls the ring out of the field and
explain why.
(5 marks)

Question 2 (10 marks)
The diagram to the right shows a simple step-up transformer.
(a)  State two features of the transformer and explain

how they enable it to operate efficiently.
(4 marks)
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(b) A voltage probe is connected across the secondary coil of the simple transformer

shown on the previous page and the voltage curve is displayed below. On the same

axis below, sketch the voltage signal you would expect to see from the primary coil.
(2 marks)

EMF (V)

(c) If the primary loops have a peak current of 2.55 A, calculate the RMS current in the
secondary loop.

(4 marks)

Question 3 (6 marks)

A 500-loop generator is rotated at 3.00 x 10° revolutions per minute. The loops have
dimensions of 0.200 m by 0.300 m and are placed in a uniform magnetic field of 0.655 T.
The armature of the generator is connected to a split-ring commutator.

(@)  Calculate the maximum EMF produced.
(4 marks)
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(b)  On the axis below, sketch the voltage signal produced by the generator using the
values provided and calculated in question (a).
(2 marks)

1 2 3 4 5 t(x 102s)

L J

Question 4 (11 marks)

Consider the following system. A country town has a power plant that is 15.0 km from town.
The power plant has a 455 kW generator producing an AC signal at a voltage of 1.00 kV.
This is stepped up to 35.0 kV by a 96.0 % efficient transformer after the power plant in
Transformer 1. The transmission wires have a total resistance of 73.5 Q and are connected
to Transformer 2 at the town which is 90.0% efficient.

Transformer 1 Transformer 2

Power
Plant Town

(a) Calculate the power loss across the transmission wires.
(4 marks)
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(b)  Calculate the voltage supplied to Transformer 2.
(3 marks)

()  Transformer 2 has 12,000 windings in the primary coil and 600 windings in the
secondary coil. Calculate the current that flows from the transformer to the town.
(4 marks)



Physics ATAR —Yr 12 Motion and Forces Test 1 2017 Page 7

Question 5 (10 marks)

A student made a DC motor from an electronics kit. He uses a square coil of side lengths
3.50 cm and 50.0 turns. A side (cross-section) view of the motor armature is shown below.
A

Coil

(a) If the coil is rotating clockwise as viewed, indicate, on the diagram, the direction of
the current in the coil at points A and B.
(2 marks)
(b)  If the maximum torque produced by the motor is 1.65 x 10 > Nm and 1.55 A of
current is flowing, calculate the magnetic field strength through the coil.
(4 marks)

(c)  While the DC motor is still operating, another student holds the armature and
prevents it from turning. State the effect this will have on the DC motor and explain
why.

(4 marks)
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Question 6 (5 marks)

Consider the following items travelling relative to a magnetic field shown below. The dashed
arrows represent their direction of travel.

A
A
X X X X
A
X X X X X X
B
Al X | X X X
Plata = }F---- P
X | X X X X
A
X X X ¥ % X
C

(a)  State the direction of the induced conventional current for rings A, B and C.

(3 marks)

A

B

C
(b)  On the Aluminium plate, draw the eddy currents that are produced. : )
1 mark

(d)  Sketch below how the Aluminium plate could be modified to reduce the eddy
currents that are produced.
(1 mark)
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Question 7 (5 marks)
A car roof rack (a horizontal metal bar mounted onto a car’s roof) of length 1.60 m is placed
on a car in Perth which travels at 115 kmh™ north. The magnetic field strength at Perth is
measured to be 0.585 uT at 66.4° above the horizontal.

(a)  Calculate the EMF induced across the roof rack as the car travels at this velocity.
(4 marks)

(b)  State which side of the roof rack generates a positive charge.
(1 mark)

END OF TEST



